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55 K 4 .(:.—,mé; Tinﬁb\(z)wﬂﬁﬁﬁ 73(33::?%)3 R 4 Thﬁégz(d;;k; .Z,n‘f 73(&3%‘5 R 4 .(Er,s Limb(zf)ttm 73&3(33 R 4 Limb(z)a)ttm 'Z’n%( 73(&3:33
7 100kN/M%E#B A5 — -~ - —|3mEBRB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — — -
zh st 1.00 | 0.00 ~ 452 56.32 | 4 | 000 ~ 452 1.91 10.24 Th st 1.00 | 5.00 ~ 5.00 56.32 | #hs | 500 ~ 500 | 1.91 10.24
2 100kN/ M%E#B 2% — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — — -
zh st 1.00 {000 ~ 722 91.84 | #n4 | 000 ~ 722 1.88 10.08 Th st 1.00 | 500 ~ 951 91.84 | =hds | 500 ~ 951 | 1.88 10.08
3 100kN/M%E#B A5 — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — — -
zh s 1.00 | 000 ~ 705 89.47 | Fhs | 0oo ~ 705| 1.96 10.51 Th st 1.00 | 500 ~ 9.68 89.47 | TnS | 500 ~ 9.68 | 1.96 10.51
4 100kN/MZ&#z25 | 1.00 | 0oo ~ 007 101.03 |3mEz22| — ~ — — — | 100kN/Mi%E# 823 | 1.00 | 1150 ~ 11.70| 101.03 |3mEEZ3 - ~ — —
ZFhllst 1.00 1007 ~ 786\ 100.00| Fhis | 000 ~ 786|242 12.96 Th st 1.00| 5,00 ~ 1150 100.00| FThs | 500 ~ 11.70| 242 12.96
5 100kN/MZ&#z25 | 1.00 | 000 ~ 156 12377 |samx#z22| — ~ — — — | 100kN/Mi%E# 823 | 1.00 | 1073 ~ 1587 123.77 |3mEEZ23 - ~ — — —
ZFhilst 1.00 | 1.56 ~ 934 100.00 | £hs | 000 ~ 934|249 13.31 Th st 1.00 | 500 ~ 1073 100.00 | Fhs | 500 ~ 1587 2.49 13.31
G 100kN/MZE#z25 | 1.00 | 000 ~ 147 12233 |3mx#z22| — ~ — — — | 100kN/Mi%E# 23| 1.00 | 11.09 ~ 1597 [122.33 |3mEEZ3 - ~ — — —
Zhilst 1.00 | 147 ~ 925 100.00 | Fhs | 000 ~ 925|257 13.73 Th st 1.00 | 500 ~ 1109 100.00 | Fhs | 500 ~ 1597 2.57 13.73
7 100kN/mMZEBZ5 | 1.00 | 000 ~ 147 12233 |3mEHBZD - ~ — — — | 100kN/mZz#Z% | 1.00 | 11.09 ~ 1597 12233 |3mE#8BZD - ~ — — —
Zhlst 1.00 | 1.47 ~ 925 100.00 | Ths | 000 ~ 925|236 12.64 Th s 1.00 ]| 500 ~ 1109 100.00 | Fhs | 500 ~ 1597 2.536 12.64
8 100kN/mM%&#BZ2%5 | 1.00 | 000 ~ 105 11577 |3mEBZ S - ~ — — — | 100kN/mi%EBZ 2| 1.00 | 11.36 ~ 1469 11577 |3mERZS - ~ — — —
ZFhlst 1.00 | 1.05 ~ 883 100.00 | Ths | 000 ~ 883|240 12.86 Th s 1.00 | 500 ~ 1136 100.00 | Fhs | 500 ~ 1469 2.40 12.86
9 100kN/mZEBZ%5 | 1.00 | 000 ~ 095 114.25 | 3mEBZD - ~ — — — | 100kN/mMi%EBZ 2| 1.00 | 11.00 ~ 138 | 114.25 |3mERBZS - ~ — — —
zhust 1.00 | 095 ~ 873 100.00 | Fhs | 000 ~ 873|235 12.56 Th st 1.00 | 500 ~ 11.00 100.00 | #hst | 5,00 ~ 138 | 2.86 12.56
10 100kN/mMZE#BZ5| 1.00 | 000 ~ 050 10740 |3m&E8ZB| — ~ — — — | 100kN/m%E#BZ2 | 1.00 | 11.21 ~ 1264 10740 |3mEEZB - ~ — — —
zh st 1.00 1050 ~ 828\ 100.00| Fhds | 000 ~ 828|193 10.33 zhust 1.00 | 6.00 ~ 1121 100.00 | Thdst | 500 ~ 1264 1.93 10.33
11 100kN/mMZE#BZ5| 1.00 | 000 ~ 035| 10513 |3m&E8ZB| — ~ — — — | 100kN/mMZ&#Z2% | 1.00 | 1053 ~ 1147 10513 |3mZE#EZD - ~ — — —
zhust 1.00 1035 ~ 813 100.00| Fhds | 000 ~ 813|220 11.75 zh st 1.00 | 5.00 ~ 1053 100.00| Thds | 500 ~ 11.47| 220 11.75
12 100kN/mZE#BZ5| 1.00 1000 ~ 035 10513 |3mEBZZ| — ~ — — — | 100kN/M%&#z2% | 1.00 | 1053 ~ 1147 10513 |3mZE#EZD - ~ — — —
zhust 1.00 1035 ~ 813 100.00 | #hst | 0oo ~ 813|220 11.75 zhus 1.00 | 5.00 ~ 1053 100.00| Thids | 500 ~ 11.47| 220 11.75
13 100kN/mMZE#BZ5| 1.00 | 000 ~ 001 10017 |3mZEBZD| — ~ — — — | 100kN/m%E#BZ2 | 1.00 | 11.83 ~ 118 | 100.17 |3mEEZB - ~ — — —
zhust 1.00 | 001 ~ 780 100.00 | #nbs | 000 ~ 780 246 13.15 zh st 1.00 | 5,00 ~ 1183 100.00 | Fhs | 5,00 ~ 118 | 246 13.15
14 100kN/ M%7 % — -~ - —|3mZEBZZ| — ~ — — — | 100kN/mZ#BZ 2 — — ~ — —|3mZEBZ2 — ~ — — —
zhust 1.00 | 000 ~ 698 88.56 | #Fns | 0oo ~ 698 1.98 10.60 zhus 1.00 | 500 ~ 968 88.56 | #Fhs | 600 ~ 9.68| 1.98 10.60
I5 100kN/ MZEHBZ % — -~ — —|3mZEBRB]| — ~ — — — | 100kN/M%EBZ 5 — - ~ — —|3mZEEBAD - ~ — — —
Zh st 1.00 | 000 ~ 699 88.61 | #nhos | 0oo ~ 699 1.80 9.61 Zh s 1.00 | 5,00 ~ 871 88.61 | #hbst | 600 ~ 871 1.80 9.61




